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I x mwn: application of each of the parameters of 137y
a 7awm(v.1 -allowance for poverty) — applies to the one committing
i Explication: if a poor man commits to the 71 of a person who happens to be rich — gives »y 7; and vice-versa
1 Source:v.1 -7 »wn relates to 7
b o2 age - relates only to the “target” (1711) (note — should be "791”, but follows "711” in 1¢t clause)
¢ 7w (valuation): relates only to the “target” (71)
d Timing: is set as of the commitment (7791 1n1)
II 12 mwn: distinction of 1wy axis from that applying to m2p (e.g. y1xn 129p which has a “sliding scale” for poverty)
a  If: someone committed to another’s y71x¥n 129p
i If: the y1¥n in question was impoverished, the 171 brings the “poor man’s offering” (v. 2)
ii ~ And if: the y71¥n in question was of means, the 911 brings the standard offering
b Dissent: 7227 — same applies in P27y —
i Explanation: reason that a poor man giving value of 1y pays per T »wn — is because the 1wy (target) owes nothing
ii ~ However: if an 1wy committed to an 77 and an »y heard this and committed to “what he said” — pays full amount
¢ analysis: does wnan’s position hold even if the 7710 was wealthy? v. 2 indicates ®1n 57 oR1 (only an %y has the “out”)
i answer (pny’ 77): if the 77 was poor himself
ii  challenge: "Rn” indicates that only the y7xn has the “out”
1 answer (87287): MWN 1D PRI extends to a poor 11N
2 however: if the 171 was wealthy, he brings “full” y71¥n 129p — in which case, how is that different from y37y?
3 defense: we may have thought that anyone being 91 a 2y »71¥n127p brings 1y 1279 (since it is extended) — %"np
(a) per: Rn»72 (in 9"n) sicne in 137y, a poor man who committed to value of 1wy gives “poor” amount
(i) we might have thought: same applies to yxn; therefore it states X1n 57 DRy
(if) but: for 17, who maintains that we always follow status of “target”, what is excluded via “®n"?
(iii) answer: excludes when the v is wealthy, contra possibility that we follow &7237 Xavn - 9"np
II 22 mwn: time-frame of “poor” man relative to commitment or payment:
a  if 7Ivn was poor at time of commitment and became wealthy — or the opposite — gives full amount
i became wealthy: source — 9130 T TWYVN TYVR
ii  had been wealthy: source — »YN VR 19 Yy
b /7miw ’1. even if he was poor at both times but was rich in intervening time, gives full amount
i source: ®n 70 bR —he understands "X1n” as defining consistent status
1 challenge: v. 2 should require poverty from time of nyx until after bringing niavp
(a) however: ®:1 YN — 3-way dispute at what point m%7 is defined:
(i) w7 w™ - bringing of nkon; 771772 /1. bringing of nWR; »axnT. “offering” of birds
(b) defense: 21 explained that all three were interpreting v. 3 — which point is called 1w nva
(i) question: if so, what is the purpose of R1n? (X110 97 DR)
(if) answer: per »27 and p>naN, above
2 challenge: v. 4 should indicate that to be liable for myTyn n»aw he must be 1w 7y from witnessing until nRTYn
(a) &m772 if he was 93 and became 9104 (e.g. married into family) — not liable
(i) however: if he was 73 at time of witnessing, became 9104 then w3 before nR7TYN — is liable
(if) defense: v. 4 uses "R R (time of witnessing) and T X5 nr (MRTYN) — setting 2 “flash-points” for mw>
1. question: what is purpose of "R1n"?
2. answer: teaches that he has to single out 01y for them to be liable;
a. as opposed to: case where a group is coming and he is y7awn the o’1y among them
b.  however: if he says “anyone of you who knows mv...” —liable; per 7» xym
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IV » mwn: contrast (of rule in 21) with nnavp
a  mma3p. even if his father died, leaving him a fortune, or his ship was arriving with lots of cargo — v7pn has no claim
i challenge: if he just inherited a fortune, he is wealthy (why doesn’t w1pn have a claim?)
ii  answer (1738 77): case is where (wealthy) father is dying
1 challenge: this is obvious
2 answer: if father was oo, since »oow a1 die immediately — 5"np
iii  challenge (to ruling about the boat): if he has a valuable cargo coming, he is wealthy
1 answer (8701 "7): his ship was rented out to others
2 challenge: he still has the rental fee coming in
(a) answer: M2V only pays off at the end (9702 RYR NSNVN NPR MIV)
3 challenge: the boat itself is of value
(a) answer; per 8", who (contra mnan) rules (ahead, x1) that when taking collateral for wTpn, we give back the
tools he requires for his livelihood (- we don’t seize the ship itself)
V 7 mwn: explication of clauses in 8 mwn regarding 1711 01, 137 follow the 71 and 71 is 790 jn12
a 7722 prw if alad is PIvn an elder, he pays the value of an elder and vice-versa
b 7w2 P9y if a man commits to the 79 of a woman, he gives nwr 71 and vice-versa
c 7w jora 7. if someone was targeted before 5 years old and became more than 5 or before 20 and became 20£f
i then: he pays as per time of the commitment
d  comment (X517773): we have compared 1227 to 007 for purposes of B9p% 5N (we estimate value per local assessment,
not what it would fetch elsewhere) and for y11252 111 (head or heart “carry” full person)
i however: we do not make that comparison for the purpose of paying as per value at time of payment
1 reason: mp> 19 797¥3 — only pay as per value at time of 77
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